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Unit 1.7 Solving Multi-Step Inequalities

Solve each inequality. Graph its solution. Write the interval notation.

Period

1) 0O<—n+4n 2y3<-2n—-n
—— L ———
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 -3 4 -3 -2 -1 0 1 2 3 4 =5
n=>0 ) ) n<-1 . )
interval notation: (0, ) interval notation: (—oo, —1]
3) 7<-4r-3r 4) 0<—n—3n
-7 6 -5 4 3 -2 -1 {II 1I é :I'I- -7 6 -5 -4 -3 =2 -1 ‘{T i i :Ii-
r<-1 interval notation: (—oo, —1] n<0 interval notation: (—, 0)
5) 1>1+2n+n 6) 4<-2b+2b
1—6 =5 =4 -3 =2 -1 0 I] i 3 -I4 ]IU lll IIE ]I3 1I4 ]Ii ]Iﬁ ]IT 1I8 ll‘a‘ ZI[]
n<0 No solution.

interval notation: (—oo, 0)

7) 8z=2n+3n

i ——| L L L L L L
-5 4 -3 -2 -1 0 1 2 3 4 5

n<-2

interval notation: (—oo, —2]

9) 2>2+2a+4a
-

=5 =4 =3 =2 -1 0 1 2 3 4 5

a<0
interval notation: (—,0)

11) 4<x+2—-x

2 3 4 5 6 7 & 9 10 11 12

No solution.

interval notation: none

interval notation: none

8) Tz—r—-4+4r

~i——— L L L L L L
-4 -3 -2 -1 0 1 2 3 4 5 ]

r<—1

interval notation: (—oo, —1]

10) -5 <—2b—3b
o ;

=2 -1 0 1 2 3 4 5 6 T B8

interval notation: (—, 1)

12) 1<3n-3+n

L - e s
-4 -3 =2 -1 0 1 2 3 4 5 &

n>1 interval notation: (1, )



13) —4x—2(-2x—1)>2(1 -3x)

-

=7 =6 =5 =4 =3 -2 -1 0 1 2 3

xz0 interval notation: [0, o)

15) —2a-3a<2(4—a)-3(a-3)
~=/ S S S =

9 10 11 12 13 14 15 16 17 18 19

 All real numbers. }

interval notation: (—oo, )

17) 2(1 +x) <=2+ 4(1 + 2x)
' -

-7 -6 -5 -4 -3 -2 -1 0 1 2 3
x=0

interval notation: (0, o)

19) 2(x—1)<3x+2(x+1)
e -

-6 -5 4 -3 -2 -1 0 1 2 3 4

xz0

interval notation: [0, o)

21) =3-3(1+35)>2-4(2+3b)
-

-4 -3 =2 -1 0 1 2 3 4 5 6

hz0

interval notation: [0, )

23) 2p-2)-4>-—p+3(p+4)
J—Iﬁ —IS —I4 EE —:2 —:1 [:] :] é ; A'-:l
p<-3

interval notation: (—o0, —3)

14) —4(2—n)<=3(2n-3) +3

-3 2 -1

n<?2

]

i

I
T
2

i 4 5 6 7

nterval notation: (—, 2)

16) 2(1+7) <2(r+3)-4

T
-2

-1

0

No solution.

18) 4(b+1)>-2(h+4)

1

2

i o4 5 6 7 ¥

interval notation: none

P

b=

=10

-2

-8

=6

—4 =2 0

interval notation: (—2, )

20) -2(1 +3x) +4<2(1 - 3x)

-8 -7 -6

=3

—4

=3 =2 -1 0 1 2

! All real numbers. }

interval notation: (—oo, o)

22) =3(m+1)=m—(3 +4m)

{ All real numbers. }

=10

-8

-

—4 -2 0

1

interval notation: (—oo, )

24) 23 -v)<2+2(2v+4)

L L Faut
T

v

-14

> —8

=12

T o
-10 -8

interval notation: (—8, )



